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cosec A ZZiJ’ sin A =y/1— COS2 A= ,/1 - % = %a/&)}
_éuﬁfd/sin AY sec Ausltan Accos Au;t’j:IZJU"‘
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cos’ A =1-sin’ A, i.e.cos A= +./l-sin’A
(sud) cos A =4/ 1-sin’A %amLU”

1 1 sin A sin A c
sec A = = osltan A = = Jv/).’.'/

cos A/l —sin’ A cosA \f1—sin’ A

~sec A (1 —sin A)(sec A +tan A) = 1f§.~f.b213d5"‘

1 ) . 1 sin A
LHS =sec A (I - sin A)(sec A +tan A) =| -+ (I —sin A) s ANGN

_(I-sin A)(1+sin A)  1—sin® A
cos’ A cos® A

2
_SS A _|_pus
cos” A

cot A—cos A cosec A —1

cot A+cos A cosec A +1 féﬁat‘¢14dl}"

cos A
N A A —cos A
cot A — cos sin
LHS = =
cot A+ cos A Ccos A ’
- +cos A
sin A

—_—

=RHS

- +
cos A ,1 +1 - +1 cosec A+ 1
sin A sin A

sin O —cos O +1 1

Ssect0=lrtan’® S G e 1 secb-tne L & =k 15 JE

_E e
SIS L F AL 2 1ot Stan 0.stsec 0 P /R P 6 1
cos G/V?JA'uﬁCtéﬂicCL/Lth ut’w:&i{tan 0.4/sec 9(4".11/:/,@@?‘7;([%

-1 Lo
sin A J Lsin A J _cosec A —1
1
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sin® —cosO+1 tan0O-1+secO
sinO+cosO—1 tan 0+ 1—sec 0

_ (tan O +sec 0)—1 _ {(tan O + sec 0) — 1} (tan O — sec 0)
_(tan 0—secH)+1 - {(tan 6 — sec 0) + 1} (tan 6— sec 0)
_ (tan” 0 — sec” 0) — (tan 0 — sec 0)

~ {tan O — sec O + 1} (tan 0 — sec 0)

B —1—-tan O +sec O

_(tane—sece+1) (tan © — sec 0)

—1 1

tan O —sec® secH —tan O

Bt b"u.fq:’:f%‘aRHSJ J“L'/}#fﬁﬁ

LHS =

°

847
-égﬂgﬁﬁd/cm A/tan Asslsec Acsin Au.‘?udj'fr@’ -1
_éfuﬁ;f}fr’@’(ﬁuﬁdﬁu( sec AJ ZA 2
éf}l’“‘u} -3
sin” 63°+ sin” 27°

cos® 17° + cos? 73°

®
sin 25° cos 65° + cos 25° sin 65° (ii)
LS Rk L’s“v‘r%u,rzf_';/.,mg -4

(i) 9sec* A—9 tan’ A =

(A)1 (B)9 (©)8 (D)0
(@ii) (1 + tan © + sec 0)(1 + cot 6 — cssec 0)=

(A)O B)1 (©)2 (D)-1
(iii)(sec A + tan A)(1 —sin A)=

(A)sec A (B)sin A (C)cosec A (D)cos A
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~ l+tan” A
(iv) 1+ cot® A

(A) sec” A (B)-1 (C)cot” A (D)tan” A

SN L P sl i Gt e enbd e P 5 e 5

1 - A 1+sin A

(i) (cosB—cot8)? =158 Giy —S88 L TSN g sec A
1+cos O 1+sin A cos A

.... tan 6 t 0

(iii) an + co =1+ sec O cosec O

I-cot® 1-tan 6

(éutdﬁd/cos 0.3lsin B:chlfium]
- 2 R
ylisecA sm'A (é/’?ﬁﬁ‘wﬁ‘/ RHS.s/LHS 2,17
sec A 1-—cos A
(v) &8 A-sinAxl_ cosec A + cot A,

cos A +sin A —1
-écz,L“/UL&“!/ cosec’A =1+cot’ A J“L,?

{1+ sinA _ sin0-2sin’0
(vi),|[———— =sec A +tan A (vii) —— - =tan 0
1 —sin A 2 cos” 6 — cos 6

(viii) (sin A + cosec A)” +(cos A +secA)> = 7+tan” A +cot> A

1
tan A + cot A

[gf:(/'?wfwf‘/ RHS/LHS 0,51

(ix) (cosec A —sin A)(sec A — cos A) =

> y 2
%) 1+tan2A _ 1 —-tan A —tan’ A
1+ cot”A l —cot A

~ U 8.6
-Uggdfﬁd”»?w"b-;”uﬁvgw
Uree FiBRABCELA G 11

tan A = dJJG’KAd’U cos A= éJJm{A”U sin A=M
ESE sl % 2



L 218

! ! ttan A = ! ,mnAzsmA 2
cos A T

sin A’ cosA cotA
_ugé/[ﬁ)’f:,&vTﬁ@gﬁ?LLrWMJ%;@Vg@,UMw”’{/l -3
uf’j J)’-@C‘*J 90°¢60°¢45°30%0°» 31 -4
ool Msle 125058 cosee Absee A g&tnuﬁi)gjéf 1,00 cosA sslsin A -5

e

sin (90° — A) = cos A, cos (90° — A) =sin A; <6

cosec A =

tan (90° — A) = cot A, cot (90° — A) =tan A;

sec (90° — A) = cosec A, cosec (90° — A) = sec A.
sin A+cos’A=1 _7

J 00 <A<90° sec® A—tan” A =1

i£0°< A <90° cosec’A=1+cot> A





